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All Cand'lates' performance across questio
Questi itle ﬁ | Mg !g Maﬁk 9 Atteg%

la 16022 1.2 0.9 2 59.9 98
1c 14654 0.5 0.5 1 52.1 89.6
2b 16164 0.4 0.5 1 35.2 98.9
3a 16045 1.8 0.4 2 92 98.1
3c 14366 0.7 0.9 2 35.4 87.9
4b 15704 0.7 0.5 1 71.7 96
5a 15154 0.6 0.8 2 31.1 92.7
6a 15922 0.6 0.5 1 61.2 97.4
6bii 13554 0.4 0.5 1 38.5 82.9
8 15218 2.6 2 6 43.5 93.1
9b 15524 1.1 1 3 36.6 94.9
10b 15976 0.3 0.5 1 30.7 97.7
1la 16144 1.6 1 3 53.4 98.7
12a 14637 1 1.2 4 25.1 89.5
13a 15848 0.1 0.4 2 4.6 96.9
13bii 14447 0.8 0.9 2 40.4 88.4
14b 13579 0.4 0.7 2 19.4 83
16 14256 0.7 1 3 22.6 87.2
18 12829 1.2 1.4 5 24.3 78.5
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Calculate the length of DE.
You must show all your working. [4 +2 OCW]











Calculate the length of DE.
You must show all your working. [4 +2 OCW]











Calculate the length of DE.
You must show all your working. [4 +2 OCW]

B | Vtrketerc R AacE =28 .
{ €. y,.»g'i;"cf Zein foon DE = 35X '?5&«
L ine Pve £C. 08 e lewset ob DE =100











(EC = Side of the square =) 28
4
=7(cm)

(Area of triangle CDE =) 7 x DE = 35(cm?)
2
(DE =) 10(cm)

Organisation and Communication.

Accuracy of writing.

M1

Al

M1

Al

0OC1

w1

Lengths may be seen on the diagram.

Any side of square shown as 7(cm) is M1ALl.

FT ‘their stated or shown length for EC’.

For OC1, candidates will be expected to:

present their response in a structured way
explain to the reader what they are doing at
each step of their response

lay out their explanation and working in a way
that is clear and logical

For W1, candidates will be expected to:

show all their working

make few, if any, errors in spelling,
punctuation and grammar

use correct mathematical form in their
working

use appropriate terminology, units, etc.











Calculate the length of DE.
You must show all your working. [4 +2 OCW]




Sticky Note

4 marks gained for the correct answer of DE = 10 cm.
OC 0. 
Response is not structured. No explanation given. Solution is neither clear nor logical.
W 0.
Incorrect mathematical form.   7 ÷ 70 = 10.











Calculate the length of DE.

You must show all your working. [4 +2 OCW]
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Sticky Note

4 marks gained for the correct answer of DE = 10 cm.
OC 1. 
Response is structured. Calculations are explained. Solution is clear and logical.
W 0.
Incorrect mathematical form.   7 × 10 = 70 ÷ 2 =35.











Calculate the length of DE.
You must show all your working. [4 +2 OCW]
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Sticky Note

4 marks gained for the correct answer of DE = 10 cm.
OC 0. 
Structured is unclear. Explanation given but is unclear.
W 0.
Incorrect mathematical form.   35 × 2 = 70 ÷ the side EC. 











8. In this question, you will be assessed on the quality of your organisation, communication and
accuracy in writing.

In the diagram below, ABCE is a square whose perimeter is 28 cm.
CDE is a right-angled triangle whose area is 35cm?2.

D

A B

Diagram not drawn to scale

Calculate the length of DE.
You must show all your working. [4 +2 OCW]
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9.(b)
Clockwise

rotation of 90(°) about the origin.

B3

For all four components.

Accept anticlockwise rotation of 270° about the origin.
B2 for any three. B1 for any two.

‘Origin’ may be stated as e.g. (0,0) or 0 or O.

Do not accept ‘turn’ for rotation.

Allow for ‘about the origin’ any reference to the origin.
e.g. ‘in the origin’, ‘around the origin’, ‘from (0,0)’ etc.
If not a single transformation (e.g. ‘clockwise rotation
of 90 and then ..... ) penalise =1 mark from any marks
gained. (Above example gains B2 -1 = 1 mark.)
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Sticky Note

To gain full marks the candidates must describe all four components to the transformation.
                               ‘Clockwise’   ‘rotatation’  of  ‘90°’   ‘about the origin’. (B3)
  (OR ‘anticlockwise rotation of 270° about the origin’)

This candidate has omitted to state that the rotation is about the origin. (B2)
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Sticky Note

The word ‘turn’ is not accepted for ‘rotation’.
	‘From point O’ was allowed for ‘about O’.
	(B2)














Sticky Note

Both ‘rotated’ and ‘about the origin’ missing. (B1)
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Examiner
|
(b) Describe fully the single transformation that transforms shape S to shape T. [3] o

Y
A

- X

11
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12. (a) Expand and simplify the following expression. [4]
x(5x-2)-3(x2-2x+7)
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12. (a) Expand and simplify the following expression. [4]
XEx=2)=-3x*=2x+ 7
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12.(a)

5x° — 2x — 3x° + 6x — 21

= 2% + 4x - 21

B2

B2

B1 for sight of 5x° — 2x.

B1 for sight of — 3x* + 6x — 21. Brackets must be
removed.

Allow both of the above B marks even if not part of a
single expression.

FT for B2 if at least two x* terms AND at least two
X terms to be simplified.

FT for B1 if at least two x* terms OR at least two
X terms to be simplified.

If B2 not awarded, allow

B1 for correct collection of ‘X terms’ (2x°) OR

B1 for correct collection of ‘x terms’ (+4x).

This 2" B2 (or B1) is for their final answer.

Any compensating errors leading to a ‘correct’ answer
is BO.

Penalise —1 for any attempt to equate their
expression to zero (and attempting to solve) OR
Incorrectly factorising.











12. (a) Expand and simplify the following expression. [4]
x(5x-2)-3(x2-2x+7)
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Sticky Note

 A common error of ignoring the negative sign outside the 2nd bracket. (B1B0)
However gains follow through marks for simplifying the written expression. (B1B1)











12.

fa) Expand and simplify the following expression. 4]
/_.-——--\_
2x=2)-3(x*-2x+T7)




Sticky Note

A common error of ignoring the negative sign outside the 2nd bracket. (B1B0)
Gains only 1 follow through mark as there is also an error when simplifying the written expression. (B1B0)











12. (a) Expand and simplify the following expression. [4]
XEx=2)=-3x*=2x+ 7
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Sticky Note

Expands the two brackets correctly. (B1B1)
	Next line is the correct simplification that would have gained full marks.
	BUT
	Candidate produces further inappropriate work giving an incorrect final answer! (B0B0)
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12.

(@) Expand and simplify the following expression. [4]
xBx-=2)=3(x*-2x+7)

Examiner
only











¥Ex-2)-3(x1-2x+7)

Errsdoe < 2ub=Cws 2]

Sx%:3xt-2x=be.o2 )

j:x..‘-l- Yx.22)







¥Ex-2)-3(x1-2x+7)

Sx%:3xt-2x=be.o2 )

Vet by ~2)




Sticky Note

A common error of ignoring the negative sign outside the 2nd bracket. (B1B0)
Only one follow through mark gained for simplifying the written expression. (B1B0)
(Compensating error of evaluating  −2x – 6x as +4x.)







1o

14, (a) Calculate the value of (2 x 107%) x (7:8 x 10°).
Give your answer in standard form. [2]
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1o

14, (a) Calculate the value of (2 x 107%) x (7:8 x 10°).
Give your answer in standard form. [2]

......... (axiers) (7- R A sk I
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Sticky Note

An inefficient but correct method to reach 1560000 (B1)
	BUT Incorrect standard form (B0).
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c

14. (a) Calculate the value of (2 x 10~4) x (7:8 x 109). 3
Give your answer in standard form. 7-
3 5







14. (a) Calculate the value of (2 x 1074) x (7-8 x 109),
Give your answer in standard form.




Sticky Note

Correct value but not in standard form. (B1)







Examin

14. (a) Calculate the value of (2 x 107%) x (7-8 x 10°).
Give your answer in standard form. [2]











Examin

14. (a) Calculate the value of (2 x 107%) x (7-8 x 10°).
Give your answer in standard form. [2]




Sticky Note

Correct answer (B2) but has not efficiently used the laws of indicies.











1 7 6 “|Exat
14, (s) Calculate the value of (2 x 10-%) x (7:8 x 109). X2 A
Give your answer in standard form. —\g'g— 2]
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1 7 6 “|Exat
14, (s) Calculate the value of (2 x 10-%) x (7:8 x 109). X2 A
Give your answer in standard form. —\g'g— 2]

\Séx\O N— -




Sticky Note

A model answer. (B2)










Calculate the length of DE. .
You must show all your working. [4 + 2 OCW]
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Calculate the length of DE. ;
You must show all your working. [4 + 2 OCW]
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Sticky Note

Gains full marks. (B3)







14.

(a) Calculate the value of (2 x 1074) x (7-8 x 109).
Give your answer in standard form. 2]
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only











14.(a)

1-56 x 10°

B2

Mark final answer.
B1 for sight of 15-6 x 10° OR 1560000 OR
equivalent correct value but not in standard form.












